cosm(@ 23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180 Fax. 714.692.5016

www.cobrausa.com

Items Supplied > Application(s) >

1 — Chrome Radiator Cover \ Kawasaki VN900 2006 - 2014 \
4 — Screw, M6 X 20mm Buttonhead Stainless
4 — Spacer, Satin Black

Instruction Manual > \ 05-9348 ‘\Page 1 of Q

Read all instructions carefully before installing your new Cobra product!

1. Remove the (4) M6 Phillips screws securing the stock radiator screen, note orientation of screen prior
to removing it. The stock screws will not be reused.

2. Place the stock radiator screen with the
original orientation with which it was
mounted, inside of the supplied chrome

Radiator

radiator cover, refer to Figure 1 for M6 x 20 mm
clarification. Buttonhead
Screws, 4
3. Position the screen and radiator cover over locations
the radiator. One supplied spacer will be
placed between the stock screen and the SA
threaded mounting tabs on the radiator.
Insert one M6 x 20mm buttonhead screw
into chrome radiator cover, screen, spacer
and threaded mounting tab on the radiator,
but do not tighten fully. Repeat this for each b
hole in the chrome cover, there is a total of
four positions. \
4. Align the radiator cover with the frame down Chrome
Supplied Black Radiator Cover

tubes to the left and right side of it and
. e . Spacer, 4
tighten the screws to factory specifications. locations

FIGURE 1

NOTE: If you have already installed a Cobra freeway bar, please remove it to allow installation of the
radiator cover. Once you have installed the radiator cover reinstall the freeway bar and torque
fasteners to factory specifications.

* Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under
the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.

s Anything's Possible



